PHY 101 Quiz #1                                                                                             Name __________________________ 

                                                                                                                          Score  _____

Instructions:

1.  Do all of your work on this sheet.

2.  Show all of your steps in problems for full credit.

3.  Be clear and neat in your work. Any illegible work, or scribbling in the margins, will not be graded.

4.  Place your answers in a box.

5.  If you need more space, you may use the back of the page and write On back in the problem space.

6.  Pay attention to units and significant digits.

________________________________________________

1. Multiple Guess (3 pts) Find the answer which best fits the question and write it in the space provided.

a) How many significant figures should result in the computation:    
    0.023*.0206/1234?

     a. 0    b. 2    c. 3    d. 4     e. 5                                        _____

b) Which ratio gives the sine?

    a. opp/adj   b. hyp/adj  c. opp/hyp  d  hyp/opp  e. None of these.

                                                                                            _____

c) If x refers to distance, v0 and v to velocities, a to acceleration, 
    and t to time, which of the following is dimensionally correct? 
    a. 
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    d. None of these.                                                             _____   

2. Definition/Principle (4 pts) 
a. Define the following:

     i. Displacement.

     ii. Vector.

____________________________________________________
Bonus An observer, whose eyes are 1.83 m above the ground, is 
   standing 32.0 m away from a tree. If the observer’s line of sight 
   to the top of the tree is 20.0o, then how tall is the tree?

3. Problems (6 pts)  
a. A car moves at a constant speed of 30.0 m/s. How many miles 
    does it travel in one hour? [1 mi = 1.609 km.]
b. A motorist travels 200.0 km from one city to another in 3.00 h 
    but makes the return trip in 4.00 h. What is the average speed      
    in kilometers per hour over the total trip?

c. A race horse accelerates from an initial velocity of 5.50 m/s to  
    a final velocity of 25.5 m/s in 10.0 seconds. What is the 
    acceleration?

4. Vectors (7 pts) Consider the two vectors: 

    A has magnitude 4.0, oriented 60.0o to the x-axis. 

    B has an x-component of 4.0 and a y-component of 1.0. 


    a. Find the x and y components of A.

    b. Sketch and label A, B, and A+B.
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    c. Find the magnitude and direction of C=A+B, analytically.
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